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Q)=EH 2t 41 41 4.80 36.20
(k13 47 47 10.80 36.20
(5Em  Fnih 45 45 8.40 36.60
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sEJIl B 39 39 2.40 36.60
O AR 44 44 1.20 36.80
(0ZERE M 44 41 1.20 36.80
11 H/K ZZHL 42 42 4.80 37.20
121+ BEE 41 41 3.60 37.40
1378k, ‘= 47 47 9.60 37.40
141811 Fn/A 47 47 9.60 37.40
28 40 40 2.40 37.60
16 R R 52 52 14.40 37.60
17#E Fn 5 51 51 13.20 37.80
18 B ER 51 51 13.20 37.80
198 17= 50 50 12.00 38.00
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2THEE  =Ef 42 42 3.60 38.40
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SIAAFH EH 51 51 12.00 39.00
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TR AE 49 49 8.40 40.60
38t EIHE 43 43 2.40 40.60
VNNE Tl 48 48 7.20 40.80
VNS 54 54 13.20 40.80
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44 H =R 56 56 13.20 42.80
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